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* Mt 5900| 4605| 1295 [300/200| 65 | 15 | 70 | 20 | 30 | 30 | 40 | 20 | 65 | 40 | 70 | 25 | 20 | 40 | 20 | 61 | 70 | 30 | 30 | 20 | 14
AR A 4100| 2805| 1295 [300(200| 65 | 15 | 70 [ 20 | 30 | 30 | 40 | 20 | 65 | 40 | 70 | 25 | 20 | 40 | 20 | 61 | 70 | 30 | 30 | 20 | 14
P FE T FRX 4 300 200 10 | 1|21 1 1 1 1 1|1
2= Ui) PR T FRIX 4 15 5/ 10 | 4] 21 1|1 1
FHIHE (hE) FE T FERKX 4 200 10| 10 | 4 | 2 1 1 1 1
o3 2 (i) T EREKX 4 15 5/ 10 | 1] 2|1 1|1 1|1 1|1
T (JiyE) T FRX 4 200 10| 10 | 4 | 2 1 1111
B 5 R (ne) T ERKX 4/ 170 95| 75 20|12 3 4111 4 412031121 ]1]1]|2 212121117
YA (i) T FERX 4| 170 50/ 120 |20 |22 | 6 10/ 315 51355633213 9 3|5 |2
2 (M) T ERKX 4 80| 55/ 25 | 15| 2 1 111 1 1] 1 1
A FE T FRX 4 60| 35/ 25 |1 | 4|2 311 2 20111 |1]1]1 1 1|11
YR (mE) T TRIX 4/ 1200 70/ 50 | 7 |8 |3 51113 312121121112 2121311
HoEE R (iYE) T FERKX 4 30| 20/ 10 |5 |2 1 1 1
NS 538, 2 Mk T EREKX 4 20 100 10 |1 4] 1 1 11 1
B 5 BREESHE AR FE T ERKX 4, 120 10/ 110 | 2 | 2813 11215 714051422212 0271
S LR FET ERKX 4 60 100 50 | 2713 21213 512132312 ]2]2]|2 311311
IFEAEIZ S HAR One) |[#ET ERKX 4/ 130 30/ 100 |10 |20 | 8 8|2 | 4 6 | 3,6 |53 |3]3|2]2 6 | 35 |1
M 2% THE T FERIX 4/ 130] 130
iR E B T FERX 4 30 200 10 | 2 |2 1 11112 1
)5 T ERKX 4 30 100 20 | 221 1]2 3111111 2 11
IS T AKX 4 200 15| 5 1] 1 1 1 1
W 5 B PR T HRLIX 4 15| 10| 5 1|1 1 1 1
T EH FE T AKX 4 10 5 5 1111 1 1
TREH T HREEIX 4 10 5 5 1|1 1 1 1
REZE 0 HE D | ERKX 4/ 130 80| 50 10 | 10 10 10 10
HEHE (mE) wE ) | FERKX 4 40, 15| 25 |15| 5 5
1 pad EREKX 4, 100/ 80| 20 | 2| 3 11 2 1|11 ]1]4]|2 1
#HE 2= Uhi) Pl FRIX 4 50/ 40/ 10 |5 |1 2 |1 1
L3 (i) P FERX 4 50/ 40| 10 | 2 | 2 1 1111 2
ERTHE (hiE) P TRIX 4 90| 55/ 35 |18 2 1|1 2 1|1 1] 1 1141 1
JLiE (i) P FRX 4/ 110 80| 30 |20 2 1 1 1)1 1111
RN (E) Pl FERX 4] 120 100/ 20 | 5 | 2 1] 1 1 2 1 1 51
ASCHEE 538, 2 K ped FERKX 4 40, 30 10 | 2| 2 1 1 4
SRV B 'y ERKX 4 80| 50/ 30 |14 2 11 1 1|1 2 1 4| 2
P B pad ERKX 4 80| 60/ 20 | 3| 2 1|2 2 1]2 1| 113 1
P s (i) P AL 4/ 170/ 130/ 40 |18 | 4 1|1 2 1111 2 11 1|7
#o1oo, 3 m
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* Mt 5900| 4605| 1295 [300/200| 65 | 15 | 70 | 20 | 30 | 30 | 40 | 20 | 65 | 40 | 70 | 25 | 20 | 40 | 20 | 61 | 70 | 30 | 30 | 20 | 14
ITBUE P ZREEIX 4 65| 45 20 | 2 | 3 2 |2 2 1 1 1 4 11 1
BARBUAR A Uhie) pEd KL 4/ 170/ 140, 30 | 13| 3 2 1|1 1 1122 1
IS P KX 4/ 120/ 105 15 | 3 | 3 1 11 ]1]1]1 2 1
45 B ped ZEREIX 4 700 55 15 | 2 | 3 1|1 3111 1 1] 1
LR E P HERIX 4 45| 30/ 15 | 2 |3 1|3 1 1 2|2
M EH pad FIZIX 4 45 30/ 15 | 2 |3 1 1 311 1 1 1|1
[ SLER P ZREEIX 4 700 50/ 20 | 2 | 4 1|2 1 21111 1 212 1
PUE S 3 (i) pEd KL 4/ 190| 150, 40 |20 | 4 1|1 2 2 11 1 1]1]3]2 1
HIR2E(E R (M) | ZARCO | EKX 4 60| 30 30 |9 4 3 4 2 4 | 4
BREGEEA M) (i) | Z2RCD | ERKX 4 60| 30 30 | 6 4 3 4 3 21 4|4
Pk (i) SARCD | FERKX 4 40/ 40
FARE (EE 7 ) OidE) | ZARCO | FKIX 4 60, 30, 30 |10 5 7 4 4
FARZE G 5 ) (i) | ZARCD | ERKX 4 60| 30/ 30 |10| 5 7 4 4
PRI T SARCD | FERKX 4 80| 50| 30 |10 3 3 3 5133
FRTEE (i) B | R 4/ 2100 210
IFEHEEESHEAR FE ERX 4/ 180 180
1 B | ERX 4 60| 60
HIRY P | ERKX 4 30 30
TrE BRI | AKX 4 120] 120
LHA Hit 600/ 600
JLiE (i) YHGAE | FERKX 2 70, 170
R U) XA | ERKX 2 30 30
FAR: (Jivie) YHGAE | FERKX 2 30 30
SR YHZE | ERKX 2 30 30
BFEENHEE (G | COHEEE |ERK 2| 110/ 110
iU B XHLGAE | ERKX 2 50/ 50
1 A | ERIX 2 50/ 50
EVEZESEAR UG | CHgE | ERKX 2 60| 60
PUE S 3 (i) LHGE ARKX 2| 110| 110
i XHGA AR 2 60| 60
=R (ERD & 1200| 1200
PE P ERX 3/ 350| 350
N e pad ERX 3] 250] 250
I i FET X 3 50/ 50
BFHE (nE) T FREIX 3 45| 45
% 2 5, 463 7




M T Y8 22 B 20 14438 42 X))

. el n o m e s s m | | = | | @

e RR B (S A RN e e e ek B e R e | B | R | e

* =it 5900| 4605| 1295 [300|200/ 65| 1517020303040 20|65 |40 7025120402061 170130 |30|20 | 14
THENLN AR T BRIX 3 165 165
SR ) SAGO Mk | 3 40| 40
EAHE 0T SAGO MRk | 3 60| 60
P E SR kX | 3 40 40
50 O0) EHER X | 3| 140 140
RV A e X | 3| 60 60

o3 U, 43




